=
2
n
=
on

st T 1 Us=

O U\

MRERES - I\

i

ol

—

ImH Sz

ol

76

0000000000000 00000000000000000000000000000000 :7=1DK 201992020

WRSIS>Y-

SO9MIVRETSVY

W st A0

[

J

http://www.net-nagase.co.jp
(EEME - M)
201946 AR

OFOIANINHETSIY .
JIS 5K JIS 10K

& = B |J—b |RKIVLMRE| || B B | J—bk RILMRE|
15A | 870 | 1,100 | 1,520 |[M10x50| 4 || 1,080 | 1460 | 1840 M12x50| 4
20A | 940 | 1200 | 1520 [M10%X55| 4 | 1,180 | 1,580 | 1,840 [M12x55| 4
25A | 1,050 | 1,470 | 1,720 I 4 || 1,720 | 2250 | 2,750 [M16x60| 4
32A | 1,310 | 1,840 | 2610 [M12Xx55| 4 | 2000 | 2,760 | 3640 [MI6X65| 4
40A | 1,460 | 1,920 | 2810 I 4 || 2160 | 3,080 | 3990 I 4
50A | 1,600 | 2310 | 3,500 I 4 || 2700 | 3810 | 4,740 7 4
65A | 2610 | 3750 | 4530 |[M12XxB0| 4 | 3340 | 5150 | 6,230 I 4
80A | 3650 | 5100 | 7,190 |[M16XB5| 4 | 4060 | 5970 | 7,740 I 8
100A | 4310 | 5970 | 8150 |[M16x70| 8 | 4850 | 7,170 | 9,110 I 8
125A | 5,560 7,960 | 10,470 " 8 7,480 | 10,700 | 14,450 M20X75| 8
150A | 7,170 | 11,120 | 13,700 [M16x75| 8 | 9560 | 13,910 | 17,870 [M20x80| 8

QI IIAINRETSVTI ®LKISVY (ABY) ®

JIS 20K LK (7.5K)

+E 28| 3—bk |RKIVLMRS | 7 5% = B | J—b RILMRE ¥
20A | 2310 | 2820 [M12x50| 4 50AJ\| 2,400 | 3480 | 3520 [M16X75| 4
25A | 3230 | 4040 MIBX60| 4 B0A%| 2,630 | 4,140 | 4,300 7 4
32A | 4610 | 6050 MIBXB5| 4 B5A| 3,050 | 4,790 | 5,270 I 4
40A | 6,480 | 8,070 I 4 80A| 3,260 | 5210 | 6,050 [M16x85| 4
50A | 8360 | 10,080 I 8 100A| 4,360 | 6,950 | 8,400 " 4
65A || 10,160 | 12,100 (M16X75| 8 125A| 5,860 | 8,900 | 11,320 I 6
80A | 12,030 | 14,120 [M20x75| 8 150A| 6,740 | 10,640 | 14,240 I 6
100A | 13,830 | 16,130 |M20x80| 8 75X 40A — | 15,000 I 4
75X 50A — | 15,000 " 4

100X 50A — | 18720 I 4

100X 75A — | 19,500 I 4

150X 50A — | 31,980 I 6

I [150x 75A — | 31,980 % 6

150 100A — | 31,980 I 6

LK

80751 VK — 15,000 " 4

100754 VK — | 18,720 I 4

150754 VK — | 31,980 I 6

£ 10K
50754 K | — 4560 [M16X75] 4

XKADEOTICHBHOME. RIE. ARETFERRETHIEPHBVETOTITRILZL, *AEICITHBERITEENTEYEEA.




